0

T+ - E
i x
o= 26 P 'Km"i.ifzfz
w'} III
99“‘*‘”)“ (nrd)

(3 T Ay
(/8]
=5
28 T 2““““)
R
E, —M*")W
(En: n-}' )'t‘""‘)

Indni e we_ll
h= P - E (’ké’cézg
2 2
F: (ZY"’E
Lio =
%m 3 =22t
"L,Z —-t
) \ N
qE s 0P
‘ 2 %
_ n*)—) L’;_'“
‘ZmE - z L
2 47
= n ‘\’L _'L"_______,_.
~ E k z W
1,2
(e rern) I
2, 2
s % T
_ ootk T s %’2”’:
pRRE -
]
IR
£, = Evngwell
,2_ \
T h
\) T
: \ @'M) Eaewf\‘)
- E\('\{/\JQ\\ 1 !
WL'\:,L"Lm\})
c =E Wu&‘ *%U[P’Ff?f
n N w
Q,né—\)
EY\ — Em,",v‘/e“ (‘ '+’ L———;"-B
n
A n=a2® (S ——?. E“"{""'e“



gk o V() @ T Y
= k%] =E j f i |
@ H Q'Lm + 2| H = P’L* a,’jo('ft:E' (0670)
& _ —
ra Zm |

~\/
ch’nrng points P = FE/ e T (%) d
€/
JE,m du 2 (o o1 zZ{ch;,z;iiﬁ?'“‘ oz 027
BREAS

ka§ J/il:_) 4% . . | | Trrh
¥l
Zvnkjr E‘ fx,>\ da = (Hf)./)ﬂ’ﬁ ) ‘ N )

’ - E dn=E 99 "
p Lk X7 ,K-‘j ) B = 3 £>
e | B0 55 A (=7 ()

2/3 t
J |
% _Z.T, E'}/'L — (n+t b EH'I/(,( - . OJ/;_* In
) | ( i J2m a i
3 ™
E - e (n‘\/}b) 29 (2+°‘)/2o\ 244
“m e [(TEE T
¢ /3 " Q\ +1> T Jima
= - %_‘f\ ﬂ—) (n*é} Zd/
& \[-2":: 2+ A

(n) = (n—-\)! T‘(lv):ﬁ- ['7{‘):»1



